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HONG KONG ATTAINMENT TEST
(Pre-Secondary 1)
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Mathematics B &%

/\

Primary 6

Mock Paper
EE e

Time allowed for the test: 50 minutes

R 50048
Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36
Answer ALL questions.
Write your answers on the answer sheet.

Rl

there is no need to rub it out after the test.
6. The use of calculator is not allowed.
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Write your name, class and class number on the answer sheet.
You may do your rough work in the blank space of this test booklet and
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Note:
Not all diagrams are drawn to scale.

SECTION A Ia:ma

Choose the correct answer. You only

need to write down the letter preceding
the selected answer.

EE

o E KL HIEE -

ER &R
BHERNER BEREHEELREE
RANRXFF -

1. The number of visitors to a travel
fair is 230 000 when corrected to
the nearest ten thousand. Which of
the following numbers cannot be
the actual number of visitors?

A. 225000
B. 229999
C. 234999
D. 235001

1. 2 BN AL MR £
#4552 230 000 A o F 3|9 —1A
T HE BRGNS A ?

pd

A. 225000
B. 229999
C. 234999
D. 235001

2. Which of the following groups of

2. T AR — A Heh ARk A MY

numbers has the product as their L.CM.?
L.CM.?
A. 12and 15 A, 12415
B. 14 and 18 B. 14 4= 18
C. 15and20 C. 15420
D. 20and?27 D. 20 4= 27
R Ej



